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.HEXWXKDQ� DNDQ� VHEXDK� SHUDODWDQ� NHUMD� JXQD� PHQXQMDQJ� NHJLWDQ� SDUD�

SHNHUMD� PHUXSDNDQ� KDO� \DQJ� PXODL� GLSHUKDWLNDQ� SDGD� HUD� VHNDUDQJ�� %DQ\DN�

EHUPXQFXODQ�EHUEDJDL�PDFDP�MHQLV�SHUODWDQ�NHUMD�EDLN�GLJLWDO�PDXSXQ�QRQ�GLJLWDO�

\DQJ�PHPHSHQJDUXKL�NLQHUMD�PHUDND�GDODP�EHNHUMD�GL�ELGDQJ�DWDX�NHKDOLDQ�PHUHND�

PDVLQJ� ± PDVLQJ�� 3DGD� HUD� VHNDUDQJ� PXQFXO� VHEXDK� WUHQG� EDUX� \DLWX� PHQMDGL�

VHRUDQJ� IUHHODQFHU� DWDX�ELVD�GLVHEXW� SHNHUMD� OHSDV��)UHHODQFH PHPLOLNL�EHUEDJDL�

PDFDP�SURIHVL�WHUVHQGLUL��QDPXQ�EDQ\DN�EHUPXQFXODQ�VHEDJDL�IUHHODQFH�GHVLJQHU��

.HEXWXKDQ� VHRUDQJ� \DQJ�PHQMDODQL� SURIHVL� LQL XQWXN� PHQXQMDQJ� NHJLDWDQ� NHUMD�

PHUHND�FXNXSODK�EDQ\DN��6DODK�VDWX�NHEXWXKDQ�SRNRN�VHRUDQJ�IUHHODQFH�GHVLJQHU

LDODK�PHMD� NHUMD��0HMD� NHUMD� \DQJ� GLEXWXKNDQ� VHKDUXVQ\D� EHUEHGD� GHQJDQ�PHMD�

NHUMD� SDGD� XPXPQ\D�KDO� WHUVHEXW� WHUMDGL� NDUHQD� EDQ\DN� IDNWRU� SHPEHGD� GHQJDQ�

VHRUDQJ�\DQJ�EHNHUMD�VHODLQ�GHVDLQHU��0HUHND PHPEXWXKNDQ�PHMD�NHUMD�\DQJ�OXDV�

JXQD�PHQXQMDQJ�SHNHUMD�PHUHND�EDLN�GLJLDO�GDQ�QRQ�GLJLWDO��0HMD \DQJ�GDSDW�GLDWXU�

NHPLULQJDQ� GDQ� NHWLQJJLDQQ\D� JXQD� PHPEXDW� SHQJJXQDQ\D� Q\DPDQ� SDGD� VDDW�

EHNHUMD� GDODP� MDQJND� ZDNWX� \DQJ� ODPD� GDQ� NHQ\DPDQ� VDDW� VHRUDQJ� GHVDLQHU�

PHQJJDPEDU��+DO�WHUVHEXW�PHUXSDNDQ�NHEXWXKDQ�VHRUDQJ�IUHHODQFH�GHVLJQHU DNDQ�

PHMD�NHUMD�PHUHND� 0DND�GDUL�LWX�SHQHOLWLDQ�LQL�DNDQ�PHPEDKDV�WHQWDQJ�EDJDLPDQD�

PHUDQFDQJ� VHEXDK�PHMD� NHUMD�\DQJ�GDSDW�PHQXQMDQJ�NHJLWDQ�:RUN�)URP�+RPH�

VHRUDQJ�IUHHODQFH�GHVLJQHU��

.DWD�.XQFL���IUHHODQFH��GHVLJQHU��PHMD�NHUMD
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